CHM152 Quiz5 25Pts Falll 2016 Name: / <ﬁ ‘4,,
Show work to receive credit

1. Which one of the following is a buffer solution?
0.40 M HCN and 0.10 KCN D) 0.10MKCN
B) 0.20 M CH;COOH E) 0.50M HCl and 0.10 NaCl
C) 1.0 M HNOs and 1.0 M NaNOs3

weak ocid and jfs con) base .

2. You have 500.0 mL of a buffer solution containing 0.20 M acetic acid (CH3COOH) and 0.30 M
sodium acetate (CH3COONa). What will the pH of this solution be after the addition of 20.0 mL of
1.00 M NaOH solution? [K,=1.8 x 107%]
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3. 35.00 mL of a 0.30 M HCI solution is titrated with 0.35 M NaOH. What is the pH of the solution after

40.00 mL of the NaOH has been added? 5
A) 246 B) 1154 C) 700 D) 12.72 @ HY4+0oH™ > Hoo + XS
RL.00mbLtw 0‘39/""““?‘ ’ OOWS'M?H
~— Jooo m [

w] O- 37 poole NaDH O, o\l.w“m] oM

0,00 " _' ~ '
A{_)M*’ jooommi Ne HGU“ - OO}g‘m))_(_SDl{ |
POt =~ Loy Z== o,o7§ =133 plt=) jq-polt = (2.7

4. Calculate the H* jon concentration in a 8.8 x 10~ M Ca(OH); solution. = =
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5. Which one of these salts will form a basic solution upon dissolving in water?
A) NaCl C) NH:.NO; D) KBr E) AICh

po_ v ho = HWNO, + O
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